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correct booklet.

While answering the question from the question Booklet,
for each question choose the correct/most appropriate
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sheet, bearing the same serial number of the question.
Darken the circle only with Black or Blue ball point pen.
Darken the circle of choose option fully, otherwise answers
will not be evaluated.

There are 100 objective type questions in this question
booklet. All questions are compulsory and carry 01 mark
each.
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on the answer-sheet except making entries in the specified
places.

When the examination is over, original OMR answer sheet
is to be handed over to the invigilator before leaving the
examination hall, while question booklet and carbon copy
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This question paper consists of five parts namely :-

Part | Particular No. of Ques. | Marks
| General Mental Eligibility 30 30
1 General Knowledge 20 20
111 | Educational Interest 30 30
IV | General Hindi 10 10
\Y General English 10 10
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13.

All questions are compulsory.
In case of any ambiguity in Hindi version / English version
the English version shall be considered authentic.
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PART - I
General Mental Eligibility T AR araar
1. Fish: Ship:: Bird: ? 1. oo Som - fafer: 2
A. Flying A. 3T
B. Pigeon B, &edt
C. Aeroplane
C. BT e
D. Feather
D. 9@
2. How many triangles are there in this 2. frefafaa smepf & foram Bryer 22
figure?
A. 13
A. 13
B. 14
B. 14
C. 15
C. 15
D. 16
D. 16
3. If roads were rivers, walkers would be- 3. gfe T it & 1 ¥e It oTed 8-
A. Fish A. wafoat
B. Crocodile B. TS
C. Swimmers
C. W=
D. Boats ,
D.
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4. Solve the following equation and tick
the correct answer.

7X—21-3Xx+13=7+6Xx-16
A. 5
B. 2
C. 1
2
D. 3

5. The population of a town increased from
60,000 to 65,000. Find the increase
percent?

A. 10%

B. 10l%
3

c. 111%
3

D. 81%
3

6. A train with a speed of 60 km/hr crosses
a pole in 30 seconds. The length of the
train in meters is-

A. 1000
B. 900
C. 750
D. 500
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ffeTRad |HieRtoT 1 8 o Ud Hal ST
i fafred -

7X—-21-3Xx+13=7+6X-16
A 5

B. 2

c. 1
2

D. 3

Teh X hl SHEEAT 60,000 ¥ 56 65,000
=1 STt 31 feg st wfaera =/ e

A. 10%

p- 101%
3

D. 8%%

60 Top. =Y. /eue & fe & Tt areft wh
TSTIEY Teh @l ol 30 TehUS H U L 2
Tl i Hiet # e Bt

1000

900

750

o o w >

500
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7. A box contains 4 black balls, 3 red balls 7. Tk | 4 Tl S, 3 AT i, 5 84
and 5 green balls. 2 balls are drawn siTet 81 oo 8 @ 2 STt ATgese &9 &
from the box at random. What is the e ¢ - .
probability that both the balls are of the ST 81 31 et O 2 1 o & A
same colour? STfErehet feheit 27
A. ﬂ A. ﬂ

68 68
B. l B. l
6 6
C. g C. E
66 66
D. 3 D. 3
11 11

8. Find odd name from the following- 8. A w @ forem A FHT-
A. Kurukshetra A. FEAF
o o e o

. Haldighati
D. Sarnath &
D. @A™
9. What will be the mirror image of the 9. T srrefa =t gdur whafsres s/ g

following shape?

A A

A.v Y
B.V B'v
C.A C'A
D.A D'A
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10. |f 10. wfe
+=- I
—=x o
X =+ X ==
=+ P
Then what will be the value of A 2+ 6x6-2 T HET FT AT
2+6x6+27?
N A 2
B 5 B. 5
C 4 C. 4
D. 10 D. 10
11. A machine is sold for Rs. 5060 at a gain 11, 10% % &1 W T UM 5060 &. H =t 75|
of 10%. What would have been the gain Jfe T 4370 %, T ST STTAT ¥ AT AT I
%;.I(zls;?%%rcent if it had been sold for T S
A. Profit, 5% A. ™, 5%
B. Loss, 5% B. &M, 5%
C. Profit, 8% C. @™, 8%
D. Loss, 7% D. &, 7%
12. Fill appropriate number in the place of 12, geraree faee o T W 3o i i

question mark-

PO® OO

A. 20

B. 25
B. 25

C. 26
C. 26

D. 75
D. 75
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13, fr 379 T @ 3 fon Y, I o =71 ot

13. Starting from his place Ravi walks 3

km. then turns right and walks 4 km.

then again turned left and walked 4 km.

At last he was going to the south

HITHSH 4 Tob.HY. =T, OH: aIRiT TR g
4 fop Y. =1 31 © o8 gTea0r famm oAt A

direction. In which direction Ravi ST Tt Tl Tfer = o fam o amm 7w <61 oft?
started his journey? A IH
A. North
B. afeqor
B. South
C. East C. o
D. West D. ufem
14.  Which of the following figure correctly 14. =15 € & o SRl fogm, s,
depicts the relationship of science, TR & G ol T8t T Yeiia shd) 27
physics and chemistry?
) ‘ A.
B. @ B.
C. @ C.
15. A boy buys a pen for Rs. 25 and sells it 15. Ueh STcTeh Uk U 25 . | Giigat 30 TUTH
for Rs. 30. Find his profit percent? AT B 3T AT T YTRT ST BIT?
0,
A. 15% A 15%
0,
B. 25% B. 25%
C. 18% C. 18%
0,
D. 20% D. 20%
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16.

17.

18.

19.

A tank is filled by two pipes A and B in
24 minutes and 32 minutes respectively.
If both pipes are opened, then after how
much time B should be closed so that
the tank will be filled completely in 18
minutes?

A. 6 minutes
B. 8 minutes
C. 10 minutes

D. 12 minutes

In the following pairs find out the odd
pair-

A. Leg-hand

B. Eye—nose

C. Body — head

D. Wrist — finger

If the code for MOBILITY is 46293927,

then the code for EXAMINATION will
be-

A. 45038401854
B. 56149512965
C. 57159413955
D. 672506623076

A is twice as old as B. 8 years ago A
was thrice as old as B. What are the
present ages of B and A?

A. 12,30
B. 14,30
C. 10,30
D. 16,32

16.

17.

18.

19.
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T 3, UTST A U B o T ShAST: 24 fime
wd 32 e O swar 21 3fe e uisw @i fou
STTE T B oA fohd= 0 o1g §1=¢ Sh{AT T
o 3 18 fiete o qul 79 & T ST

A. 6TFe
B. 8fae

C. 10fiFe

D. 12fme

forer et & @ foeTeiar S =1 Te=m-
A T-zT

B. i@ - AT%

C. TWR-fR

D. s — It

MOBILITY T IS g 46293927, al
EXAMINATION T I EHTI-

A. 45038401854
B. 56149512965
C. 57159413955
D. 672506623076

AHT AT BH AU T &I 8T IH A,
B ¥ i T 377k 311 AT oMl B 3R A
o AT AT T BT

A. 12,30

B. 14,30
C. 10,30
D. 16,32
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20.

21.

22.

23.

Find three numbers in the ratioof 1: 2 :
3, so that the sum of their squares is
equal to 504.

A 2,4,6
B. 6,12,18
C. 3,58
D. 5,10, 15

In a sign language CAT can be written
as ECV, then how RAT will be written?

A. OCP
B. TCV
C. OPC
D. TPO

Suman recalls that her friend Meena’s
birthday falls between 10" and 15%"
February while according to Sheela,
Meena’s birthday is after 13" and before
17" of February. When will be Meena’s
birthday?

A. 17" February
B. 18" February
C. 19" February
D. 14" February

On putting ELPAP word in proper order
it gives the name of a fruit. What will be
the last alphabet of the word?

A E
B. A
C. L
D. P

20.

21.

22.

23.
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1:2: 3 3TJUTd H 3 HEATST Rl J1el hL
TR 3t a1 2T 504 2|

A. 2,4,6

B. 6,12,18
C. 3,5,8
D. 5, 10,15

Teh Gohd YT H CAT &1 ECV for@a &, at
RAT =1 ¥ foram?

A. OCP

B. TCV

C. OPC

D. TPO

A 1 TS & fof, S0eh! waeft #iT o6
ST T aRiE 10 8 15 B & o=
TSl & STelfeh XA o SATAR HAT 1 ST e

13 o &€ 37 17 % Usct 2 HHAT 61 SFafe
el TTT?

A. 17 ®E0
B. 18 %GRl
C. 19w
D. 14%Ed

ELPAP YT¢ %l ST TYd i 9T Ueh %l ol
T ST | ST STfec e 7T T T2

A

T - > m

B
C.
D
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A. What is the relationship between A
and B?

A. Father — daughter
B. Mother —son
C. Father—son
D. Mother — daughter

Addal247]

24.  On arranging the odd number ranging 24. 1945 a6t 3 ¥ forifora 19 areft fam
from 1 — 45, which can be divided by 3; HEATAY o AT v § I fRerd o ot
in ascen_ding order, the number at 6™ S35 & 17 arelt T A
place will be-
A. 27 A. 27
B. 15 B. 15
C. 33 C. 33
D. 37 D. 37

25.  Complete the series — 25.  gyoft qof hi-
212, 179, 146, 113, ------ 212,179, 146, 113, ------
A. 91 A. 91
B. 79 B. 79
C. 112 C. 112
D. 80 D. 80

26. Find the wrong number in the series — 26.  syuft T oA 37k Sl TR -
3, 8, 15, 24, 34, 48, 63 3,8, 15, 24, 34, 48, 63
A. 15 A. 15
B. 34 B. 34
C. 24 C. 24
D. 48 D. 48

27. A is mother of B, but B is not the son of 27. A,B#HIATE, W B, A HI A Tal 8l A 3R

B U RIT G5y 27

A. fyar—oft

po)

. HIAT-9A
D

B
C. fuar—u=
D

po)

. T — At
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28.

29.

30.

If 8 men can reap 80 acres in 24 days, 28.

how many acres can 36 men reap in 30
days?

A. 450 acres

B. 350 acres

C. 400 acres

D. 425 acres

If in the year 2006, Republic day was 29.

celebrated on Thursday, Then on what
day in the year 2007, it would have been
celebrated?

A. Friday

B. Tuesday
C. Thursday
D. Saturday

Sunil’s position from the beginning in a 30.

row is same as that from the end. Then
what will be Sunil’s position in this row
when there are 51 persons in this row?

A. 501
B. 24"
C. 25"
D. 26"

GETIT ON
Google Play

afg 8 Ffh 80 The wHS i 24 faai &
1ed &, I 36 a1k 30 Tt o foha wang it
HE T I ITET?

A. 450 Thg

B. 350 U#g

C. 400 T®g

D. 425T&g

¥ 2006 H Tor foaw SEEafaaT shi JRT
T AT AN 2007 H % fore ot wema

D. WifHa®

U Wl § G o1 YT | o8] € 8, S
T 37§ &, @ Gt o1 39 i H
T ErT S 39 fth 7 51 =afE 82

A. 50df
B. 24arf
C. 25arf
D. 26arf
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31.

32.
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PART - 11

General Knowledge

What is included in the word ‘State’ as
defined in article 12 of the Constitution?

i) Government of India & Parliament

i) State Government & State
Legislature

iii) All local and other authorities

iv) All Judiciaries
A (i)

B. (i) (ii)

C. (i) (ii) (iii)
D. (i) (ii) (iii) (iv)

What is correct about Attorney General
of India?

i) He can speak in Lok Sabha.
i) He can speak in Rajya Sabha.

iii) He can speak in joint session of
Parliament.

iv) He can speak in any committee of
Parliament.

A. (i)
B. (i) (ii)
C. () Gii) (iii)

D. (i) (ii) Giii) (iv)

AT AT

31, wiforerr oh 3fgese 12 H GRS T1og

o R wftaferd 22

i) T TR 3R d6g

i) TSI TR IR T forammoed

iii) Tt T SR 3T Tt

iv) Tt =TT

A. ()
B. (i) (ii)
c. (i) (i) (iii)
D. (i) (i) (iii) (iv)
32. 9T % WETATIATE! o fowe & w7 82

i) o AHET | St Tkl 2|

i) 9 TSI@T | SicT Hehell 2

iii) S8 €S % WY A H SIS Rl 8|

iv) a8 g4 I foret ot wfufa 9 s

T 2

A (i)
B. (i) (i)
c. () (i) Gii)
D. (i) (ii) (iii) (iv)
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33. According to new curricular structure 33.  fRreqr A 2020 % T ITSTFHA T=AT

5+ 3 + 3 + 4 of Education Policy 2020,
which classes come under the

5+ 3+ 3 + 4 % SR, TAVT 90T

foundational stage? - T T AT 22

A. Only class 1-2 A. FIA FHaT -2

B. Anganwadi, Pre school, Balvatica B. SAMHETE!, qd Mefieh foremer,
C. Anganwadi, Pre school, Balvatica EISENRC)

and 2 years class 1-2
D. Anganwadi to class 5

STerafeeht 3TR fgadfar et 1-2

D. TS © HeqT 5 doh

34. In an economy, if the share of its 34. U SrfeETT U, AT STEEAT & FeA
primary sector is 50% or more in the 3cUTe T 3T Ui &1 o Tt 50% 3T
total output of the economy, it is called S 3R 2 4 S8 e ST
as- ’

A. Industrial Economy A. 3TN stefoaeee
B. Service Economy B. TaT AdaEr

C. Agrarian Economy C. iy srefeasen

D. Command Economy D. Fyfa solsreeer

35.  “N-Protein’ has been found to be 35. wq - WA 1 Heier forad I TR R?

associated with what?
_ A. SHITHT TRAE
A. Corona Virus e
B. Human Immune System Bl GBS
C. Plant Nutrient C. der qiveh Al
D. Malnutrition D. FHNT

36.  Which Indian mass movement began 36. I GT YA S-S HETeHT et o
with the famous Dandi March of gftyee 2iet gt o 9T Y18 83T 917
Mahatma Gandhi? . R
A. Khilafat Movement A, Reem
B. Non-Cooperation Movement B. STHEANT eI
C. Civil disobedience Movement C. Gl 1aqT AfGle
D. Quit India Movement D. YA SISl Tae
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37.

38.

39.

Which Commission mentioned that 37.

‘work experience’ should be an essential
part of the school curriculum?

A. National Education Commission
(1964-66)

B. Secondary Education Commission
(1952)

C. Acharya Ramamurti Review
Committee (1990)

D. University Education Commission
(1948-49)

National Education Policy 2020 38.

recommended that a sports based
‘School Preparation Module’ will be
developed for students. For which class
this module will be prepared?

A. Class-6
B. Class-8
C. Class-1
D. Class-3

The ISRO successfully launched which 39.

earth observation satellite, in its first
launch of the year 2022?

A. EOS-4
B. EOS-2
C. EOS-3
D. EOS-5
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forer SHATINT A et fopart fop sl srqwar
feremmetrefia uTershy st fam e g
TTiR?

A. TSI f1em ST (1964-66)
B. HTefies fRTeam 1T (1952)
C. 3fr=m Tfd wefter |l (1990)
D. forafemmer fram T (1948-49)

T e Aifer 2020 7 ST AT & T,
ferenfefart o forq Wt stmenfid wpet dart
Higer ST STTeT| foret shet o fore 7
SIS GERINERIS CHIN

A. FET-6
B. har-8
C. chafl-1

D. he&r-3

U = 98 2022 % I Ted T8990 § fohe
2] SR ITUT I HHCTATIA el
foram

A. 33T -4
B. $aTmd -2
C. $3TH -3
D. 33fitg -5
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40.

41.

42.

43.

Who was the commander in chief of the
rebel army in Delhi in the revolt of
18577

A. Azimullah Khan
B. Nazib Khan
C. Karim Khan
D. Bakht Khan

Which of the following is an example of
‘Parallel Cropping’?

A. Wheat + Mustard
B. Cotton + Wheat
C. Sorghum + Potato
D. Potato + Rice

Which of the following leaders signed
the Tashkent agreement?

A. Vallabhbhai Patel and Jinnah
B. Jawaharlal Nehru and Ayub Khan
C. Lal Bahadur Shastri and Ayub Khan

D. Jawaharlal Nehru and Jinnah

Economic Survey 2021-22 has projected
how much growth in India’s GDP in FY
(23) 2022-23?

A. 8-8.5%
B. 10.5%
C. 9.2%
D. 7-7.5%

GETIT ON
Google Play

40. 1857 % fomie o fowett # Fgie & 1 g
AT i o2

A. Fsigee @i
B. Jse@f
C. ®maf
D. e @f
41, fAfafad ¥ 9 I GHHR B8
JaTET &7
A. T+ wEEt
B. &IE+TE
C. SaR+ AT
D. 3T + et ()
42.  feferfaa § @ fom Jarett 3 arerehe ausid
o EETER foRe?
A. AN TS 9o T =T
B. STeTETelle e Us 3RE G
C. Wl SETEL Tl Usf 3l
D. SETEETd 168 Ta =1

43.  anfdfer waeror 2021 — 22 3 famr ad (23)
2022-23 ¥ WA i St # fohaft gfeg &t
S ST 27
A. 8-8.5%

10.5%

9.2%

7-75%

© o w
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44. gt s A O1 fEfTRad | € foRdeh ST

44.  Red colour of soil is caused by which of

the following?
A. Aluminium Compounds

gIelT &7

A. T s
B. Iron Compound
B. PlINES
C. Mercury Compounds e
D. Clay C. owr AT
D. gt
45.  Gini coefficient or Gini ratio can be 45. it ToTisk A1 T STuTa ot Steferawr §
associated with which one of the freforaa O fore |79 O SISt ST HehaT 27
following measurements in an '
economy? A. HETERIT %t &
A. Rate of Inflation B. WW
B. Poverty Index C. 1T 9T
C. I [ [ 3
ncome |r_1equaI|ty D. -
D. Personal income
46. If Vice President is working as acting 46. afe Iwrsgufd, Teeufa & ¥ H wE F @R
President and Office of Deputy ST TS FUT W STEHTIT 7 U< = arar
Chalrmap of Rajya Sabha_ls vacant, yvho TroTET 6 A B v N
will preside over the meetings of Rajya
Sabha? A. Trgufe gr ek uh st
A. A person appointed by President B. Treufe g s Uk wee
B. A member a-ppointeq by President C. o Eh"r; : . N
C. Deputy Chairman will be elected by )
Rajya Sabha D. Uk G&& ST UG o 77w o grr
D. A member as determined by the ST o T &
rules of procedure of Rajya Sabha
47.  Which of the following is related to the 47.  zH 9 formreht Gater A9TdTer SHHT Fard
Yashpal Committee Report (1993)? (1993) & &2
A. Learning through broadcasting AT e
B. Learning without burden
J . B. forar siter & diwr
C. Information and Communication )
Technology (ICT) in Education C. fRrefr o g 37 HeR dohrTe
D. Learning by Insight D. T % g Hi@T
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48.  Operation Black Board’ is related to 48. ffefad o @ «SITNIH soieh IS T Gayel

which of the following? Crerel )

A. Providing Black Board in all A it et i o IS STee
schools 3

B. Promote the use of Black Board in o
the schools B. ol # scieh SIS o ST ol SIQTaT

C. Providing basic facilities in schools eI

D. Increasing enrollment of students in C. foremedt o qervyd gfaemd 3uarsy -
schools 3 DR

D. foener & fornfel st Amieh sem @
49.  Which city has been the hottest place on 49. famie 53.2 feft afewaw o oy i a1 w1

earth with a record 53.2 degree Celsius? gl UX Terg TTH T &1 87
:. ghinr]al A T
. Dubai
C. Kuwait B. ga%
D. Delhi C. Faq
D. faeeft
50.  Which of the following is the longest 50. fymferfad & & 6 T Y Te sl
river in India? T R?
A. Godavari A TreEh
B. Brahmaputra
C. Indus B. .5\’
D. Ganga C. foy
D. T
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51.  Students should choose the subject- ol
A.

B.
C.

D.

52. If a student is consistently late to school, S2.

PART - 11l
Educational Interest

On the basis of usefulness of the
subject

As per the wishes of the parents

As per the instructions of the
teachers

According to their ability and
interest

then-

A

53.  Modern cinema influences the students- 53.
A.

54.  Communication in the classroom 54.

complain to his parents

B. find out its reasons
C.
D. punish him in front of all the

expel the student from the school

students

In running away from home

B. In daydreaming
C.
D. In appearance resembling actors

In carrying out creative tasks

depends on-

A

B.
C.

On the ability of the teacher to
explain

On the difficulty level of the subject
On the merit of the students
On the classroom interaction
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foreror erfersfer

ferenefart =ht fereer skt =1 SRt =Ra-
A. o 3t ST & SATUR W

B. SAWHTehi shl SeBTTER

C. fRrere o fawm e o S1gER

D. 3h! &FHaT d ®I % AR

Ife Ueh B AR forame™ # fads & SArar
g, -

A. 36 et T faTeRTrd i
B. 6 ShTLUIT ohT Ul SIITGA

C. o™ ol forermera & ferrar

D. &t BT o w39 fed it
SATEfeh F=AT BT hT TATIo e 2-
A. TH IR

B. feameawid @ & |

C. TEATcH Tl ! I HA H

D. stfiarsti S foes o™ &

HeT-he] T Ha foredt shtar -

A. TRrerss S TI8 T T emar W
B. fowr &t fers s w

C. fornfefat & e

D. e sfa: R ™
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55.  The best assessment of teacher’s ability 55.  3reTqeR St AT Ud SAER T Hal 31T
and behaviour is done by equivalence- e qodT hd -

A. Their headmaster P —

B. His students
B. 3TH I

C. Elite people of the society
C. TH o HYTd AT
D. Expert scholar

D. fomiwy fagm

56. It is necessary to give the details of the 56. T Sl T T ST ST ahl ST
progress of the students to the parents- SHTATIF &-

A. ltenables parents to know the
progress of their children

A. 3O RITIh 394 Sl shl TITd ST

Hhd B
B. It gives proper advice to the parents
for applying tuitions B. 36 ANHTE i ZIIM T i 3
TeiTe firerdt 2

C. It keeps fear in children
D. Children can not give wrong C. H ST E
information to parents

D. s AMHTIhI ol TAd SIHeRR] T8 &
Tehd

57.  According to you what should be the 57. 319k SFTETL e T T AT AT =AT?
aim of education?

_ _ A. T3rer Trger S o IURid Rt
A. Job after getting education

B. Development of mental ability of B. ST <k AT fereh At ohr ferchrr
the students .
C. BT I = HER ST

C. To make students efficient literate
D. STetehi o1 0T ferehre

D. All round development of children

SPACE FOR ROUGH WORK / % &Td & fo1@ sie

20362-MYWLN-PRV-VYX-M 19 45 Set A


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A

Addal2417]

58.

59.

60.

The responsibility of the country will 38.

rest on shoulders of today’s children.
What is the meaning of this statement?

A. Children’s shoulders should be
strengthened

B. Children should be given physical
training in schools

C. Attention should be paid to the
proper development of children

D. Less load should be kept on the
children

It is believed that female teachers are 59.

more suitable for primary level
education because-

A. They work with children patiently
and lovingly

B. They have less opportunity for other
occupation

C. They agree to work for less wages

D. There is no need of any
qualification for primary education

How can moral values be included in 60.

the students?

A. By morning prayer

B. Giving lectures on moral values
C. Relating to the curriculum
D

. By telling the life story of great
people
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3T oh o=l o hell YT &F el <37 oh aTfIeel
ST S S ST T AT &7

A. T T HHT AT FEAT AT

B. S ol What § RIT TRT&T0r &
=il

C. s=di o |y e ot & &
=]

D. S<di 9 7 YR TEHT I11ed)

T ST & foR wige fRrereh srerfies
et o forar aferen SR 2, FRifen-

A. A=l |1y GYEe SR @R E HH
T 2

B. 3ok UTH 3T TGl o fold oA
T &

C. o ¥ I W A H & o1 gghd
Bt §

D. e fR1af o foRl % Awrar 6l i3
AT Tel &

ferermerat & e wo forer werm dar forat S

T 87

A. o8 I ITeAT g

B. e Tedt T AT S

C. UTSTsHH o AT Heferd sieh

D. HEM AT Shl ST sdret
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61. The best means to study the evil 61. fere GHTST H SATH S[USAT 1 STEHAT LA
prevailing in the society are- gaaH 99 8-
A. Contact with students A SE A ETE
B. Contact with parents C.
P B, i & w
C. Social survey
C. | dagar
D. Book study
D. Y& eI
62. How does a teacher establish a good 62.  ue Rrereh 1o BT § AL Heier Fohd ThR
relationship with his students? ToTTOre ST 89
A. Always making them laugh A T s S T AT
B. Keeping proper distance from them
Ping prop B. ST 3ferd gt SRt
C. Diagnosing their problems after
listening to them C. 3Th! GHEATST 3l G o 1S ST
D. By making students his best friends T
D. BTAT I JTUAT 9 Tot TRt
63. What is teaching? 63.  faregor =/ 82
B. Anart B. UFF
C. Anaction onl
( C. U framam
D. A penance
D. U du&qm
64. By whom should teachers be evaluated? 64.  frerehi o Haioh fohEeh ST BT ATTe?
A. By the inspecting officers A. Feqor stfmemfa e
B. By_thelr concurrent and higher B 3o g st s R 2m
officers
C. By society C. |98’
D. By his students D. 3k frenfert g
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65. If there is politically debate going on, 65. afe Fel Terifeen Te@ & W@ €, dr > 1m-
ou ------ .
Y o o A. TR ¥ 8 I
A. Will actively participate .
B. Will enjoy B. ot
C. Will be on one side C. fofell weh o T ST T
D. Will not pay attention D. erd & & an
66. As a teacher, in which work would you 66. Weh TEATI oh &Y H, T ITYT IMH KT THT
like to spend your evening time? f5g 1 o T qEE SE
A. Indiscussing politics PN o N SCS
B. In entertainment activities .
_ B. AN ®™H
C. In other work of getting money )
. C. Y9I &% AT HE A
D. Social work
D. @i ®rf
67. A teacher should use audio-visual aids 67. ueh STEATI Rl GYT-2T TTHIUT T ST
because- ST <TIE, SRATfoh-
A iée\sztgr?ents are interested in the A iR TS wh e
B. Keeps the attention of the students B. ST T €41 UgTs H hf-sid T&d &
focused in the studies. C. I 1 AT B SEH FO 05 T3 §
C. Itis helpful in providing real form ffarerar o o T Bt 2
to knowledge and in diversifying the
lesson. D. SWih Tt
D. All of the above
68. For the development of creative 68. st H gerTeHe fome o farepme & et

thinking in the class, the teacher should- i a1 o a8 Fer -
A. Keep an open environment A WWT@
B. Keep the students under control . , .

P B. i@ Frfe

C. Do not let them deviate from the
traditions

D. Provide them the right education at
every step

C. SRUFUA YT geA 2

D. heH-haH YT 3Rl T2l fR780T Ja™ oL
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69. What will you do if there is a shortage 69. afs foremer # fRreror TETR AT T ST
of teaching aids in the school? 2. AT 37T F|AT HA?
A ml:;?;m without any auxiliary A fr e a3 R 6y
B. Will not care about all these B. & Helehl TETE &l LT
C. Will use self — made auxiliary C. wffifa aeres ammft 1w
material . .
_ , _ . D. S<u ARG & f3TehTera s
D. Will complain to higher authorities
70. Which of the following book would a 70.  ue fRreres ffcrfiad o @ 1 € g wEe
teacher like? FaT
A. Mental ability A Tt et
B. Gita
B. Tar
C. General knowledge
D. Methods of teaching C. WIS
D. freqor i farfert
71.  All round development of the students 71. BT T GEttoT foshr foRam ST wehar &-
can be done-
o _ A. 3731 Rreqor glordr de
A. By providing good educational
facilities B. HTTRSIe: STRIea AT sl el ht
B. By making them aware of social C. oEI @ % fad &1 I S
responsibility -
C. By giving knowledge of self interest D. ‘B
in the students
D. By giving them money
72. How is it possible to improve 72, f3veT © gUT o SRR Evie &7
education?
S A. ST G g
A. Administrative reforms )
B. By changing the examination B. i i FE
pattern C. farem w a1fires g wd ek
C. By spending more money on D. 5o forasi £ ferfer #v
education ' N
D. By appointing best teachers
SPACE FOR ROUGH WORK / T &t & forar e
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73.

74.

75.

76.

77.

A successful teacher is one who ------ 73.

A. gives good marks

B. looks after the regular homework
C. maintains strict discipline
D

. remains aware of the progress of the
students

Teaching should be done mainly by ---- 74.

A. By skilled and trained teachers
B. By untrained person

C. By experienced teachers

D. By young talented persons

Successful leadership is- 73.

A. Democratic
B. Monarchical
C. Group based
D. Dictatorship

While using ICT in classroom teaching- 76.

A. There will be no need of teacher

B. The work load for the teacher will
be more

C. The teacher’s role will be that of a
co-ordinator

D. The role of a teacher will become
central

What does the development of the 7.

nation depend on?

A. on human means

B. on forest resources
C. on mineral resources

D. on physical means
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B. oyufstiara safth grr

el e 1 [CT I X T

A, 3TETIe, Y STTEYeRdT Tet Tt

B. 3TEATIH o fodl ST STk of STTaTT
C. STeATI hl HfHHT TH-=TF o & H

Tt
D. STeaTdh T iRt shesfier &Y St

g o forenmer fore ox fsft s 22
A. AR ATEET T

B. 9 €A W

C. SISt yaref |reHt W

D. fifcreh T T
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78.  Suppose one exceptional student sitting 78. g fifoTT et smetr § Uk gfaureTTedt ST
in your class and gives quick answers to AT T 39 Tt T4 F i ST T
all your questions. What will you do in 31 37T X B F e I AT
relation to your students? ~
A. You will ask comparatively difficult A. 3T JeTCH &9 § i ga.t@ﬁ S

questions and explain to be him not 34 IR T B4 & ford gHegmm)
mpatient B. 319 HWed ¢ for 38 i@ wff S o
B. _You un_derstan_d that he should st il s s et & e
immediately give all the answers so ’ 9
that you can be free from your & W
responsibilities. C. ¥ fp e i SR BT
C. You will say that being impatient in STYIH FIEN &)
class is inappropriate behaviour. R N
D. You wi . . D. 1 foremeff & steafers sifeet wer d=n
. You will ask highly complicated &
question to the student, so that he ﬁﬂﬁq—ﬁ' STEHTE B foh AT o 3T
will realize that you are one of the f31e1ehT 4 T T B
best teachers.

79. What will you do if your exam result is 79.  gfg srraeht Wl afomy 1=t T &, ar

not good? JATT AT HTT?
g\. xl:: blam_ztheh_studel:ts ) A, Foremféie =1 an) s
. Will consider himself guilty , =
C. Will not care B. maﬁaﬁrﬁﬁ.
D. Will try to know the reason C. TETE el i
D. HRYT ST T J=cT il

80. This is the reason for the highest 80. grHior &= U ferTera Ste aTetl sl T
dropout rate in rural areas- ST T 0T Bomemm
g. erelevant courses A WW

. Povert
a B. T
C. Zeal for quick employment
D. Inappropriate inter-personal C. cIfed TsrR = et Scgehdl
relationship with teachers D. f3reter] o 1o 9T UREIfeh Heier
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PART — IV
General Hindi T et
81l. “SuT Y, T T T i | AT 27 85. e IIg 2-
A. Thaaraeh A. dcEd
B. oM@ B. dqvd
C. Yar=® C. fasft
D. Hegar=eh D.
82. w3 fore 9 & S T STl o7 a1 BT 2, 86. T TR T 37 B-
I FEd 8- A. FF ST % [T qIR g
A R B. oRm M
B. = C. o g R o FifEga S
C. = D. T 3T ST T
D. fo
83. & @r BT Ireg 29 87.  “3TTSfia’ A ©T THT 82
A. faa A. FHIRT
B. SER B. &1
C. ¥ C. v
D. B® D. sigshife
84. Tt Fifia foedi o ey E- 88.  +TT % Y7&q ¥ T A [HEH BT &7
A. HET A. fafr
B. fom B. foiRad we
C. @R C. SR
D. =zfsg D. WA
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89. it fialt ST ST 7 ST W 3 oI wek wred 90.  3TSTR ¥ISE I TEETT-

2 A. STIRAT
A. S B. H%F‘T

B. TR C. 3Z—c|aa
C. = D. wfefers
D. 3ot
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PART -V

General English

Read the following passage:

After dinner, all the gang turned
out to hunt for turtle eggs on the bar.
They went about poking sticks into the
sand and when they found a soft place
they went down on their knees and dug
with their hands. Sometimes they would
take fifty or sixty eggs out of one hole.
They were perfectly round, white things,
a trifle smaller than an English Walnut.
They had a famous fried-egg feast that
night and another on Friday morning.
After breakfast they went whooping and
prancing out of the bar and chased each
other round and round, shedding clothes
as they went, until they were naked and
then continued the frolic far away up the
shoal water of the bar, against the stiff
current, which later tripped their legs
from under them from time to time, and
greatly increased the fun. And now and
then they stood in a group and splashed
water in each other’s faces with their
palms, gradually approaching each other
with averted faces, to avoid the
straggling sprays and finally gripping
and struggling till the best man ducked
his neighbour and then they all went
under in a tangle of white legs and arms
and came up blowing, sputtering,
laughing and gasping for breath at one
and the same time.

Now answer question nos. from 91 to
93 based on the above passage.

91.

92.

93.
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What effect did the stiff current have
upon the gang?

A. It splashed water in each other’s
faces.

B. It tripped their legs from under
them.

C. It greatly increased the fun.
D. BothBandC.
In the given passage the word ‘bar’

appears thrice. What is the meaning
of it?

A. astraight piece (as of wood or
metal) that is longer than it is wide
and has any of various uses (as for a
lever, support, barrier, or fastening)

B. asubmerged or partly submerged
bank (as of sand) along a shore or in
a river often obstructing navigation

C. asolid piece or block of material
that is longer than it is wide

D. something that obstructs or prevents
passage, progress or action

Read the line, ‘They were perfectly
round, white things, a trifle smaller than
an English walnut’.

This line describes the -

A. The breakfast

B. The famous fried-egg feast
C. The turtle eggs

D. Splashing of water
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94.

95.

Given is a statement- 96.

Rajesh is opening a new pizza shop next
week.

In light of the given statement, read the
following arguments:-

I. It indicates present time.

[1. It indicates futurity.

Now choose the correct option:-
A. Only Argument I is correct
B. Only Argument Il is correct

C. Both the Arguments | and Il are
correct

D. Both the Arguments I and Il are
incorrect

Punctuate the given sentence- 97.

what a great shot
A. What a great shot?
B. What a great shot!

C. What? a great shot.

98.

D. What, a great shot?
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There are some definite stages to writing
an ‘argumentative essay’. Here are some
of them, but they are not in the proper
order:-

I.  Writing the first draft

Il. Introduction of the argumentative
text

I11. Developing a perspective

IV. Final draft

V. Peer-feedback and editing

Now, arrange them in the proper order.

A IT-lI-IT-IV-V
B. H-1-1I-1V-V
C. nH-i-1-wv-v
D. H-M-1-V-1V

Give the one word for the following
expression-

‘an official written record of what is
discussed or decided at a formal
meeting’.

A. Report

B. Summary

C. Reportage

D. Minutes

While writing a paragraph, we keep
‘cohesion and coherence’ in mind.

A. Cohesion is the sense — connection
B. Coherence is the logical connection
C. BothAandB
D

. ‘Cohesion and coherence’ mean the
same idea
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99. Read the following statement from a 100. Which of the following is not a member
notarized rent agreement:- of word family ‘wit’?
‘The tenant shall pay the rent in A. witty
advance.’ B. witness
Here the word ‘shall” expresses- C. outwit
A. Futurity D. witticism
B. Volition
C. Legal binding
D. Indication
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3OW Wrg a7 faerae o1t ug I 9T 9 W Bl A |
Note :

1. This question booklet contains 100 questions each question carries 01 mark.

All questions are compulsory.

Part | Particular No. of Questions | Marks
I General Mental Eligibility 30 30
Il | General Knowledge 20 20
I11 | Educational Interest 30 30
IV | General Hindi 10 10
V | General English 10 10

ok~ own

spoiled due to folds or wrinkles.

Indicate your answers on the OMR answer sheet provided.
No negative marking will be done.
Use of any type of calculator or log table and mobile phone is prohibited.

While using answer-sheet care should be taken so that the answer sheet does not get torn or
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